EARAROBEEIERT — 2 N— IBISH —F

20155128268 (4) SHEFR#7H

mﬁjﬂ$c G2 73t (EE) (UFE) T= ‘[fﬂi] s ‘Béiﬂélasﬁ] — | Z () 14000 TE
[A&4£] 1 7 65,000,000 § 2 7% :26,000,000 @ . 33 :16,000,000 @ 4 7% :9,800,000 @ 5 j& :6,500,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
.y — M. FL—0 121, - . . BERFIM (£#)
11713 D#*ﬁ >TA47 o4 57_0T 1(2_1)4 - $.51m.0 s ff; (B) #BEL—XK—ZX
7% tx B:4—-70-X HE77—»4L
Py, 72 = # 5 | EPE 1:21.4 1-1 34.2|111.1| 5 444 | EEFF (ER)
2lgli5| ¥ AT LT 82— 57.0 ONF) (4) | REHLTF
LTINTFINTL2 Biw¥-U—7 RS
s A 4 | BERERRK 1:21.6 4-4 34.6(108.8 | 1 500 | BERMfE— (W)
311 EvI7—Y— g 57.0 1172 (o) |t
LHIINTS - BiLvESF N T -5
- 5 O SRR — : = EASE
B SL AT 4 — 6 E%.Oaﬁ 1.(221).9 4-4 35.0 | 105.4 | 8 (:?g) i%gzaﬁ (E=®R)
L BATATv— BT T7=—42yF AL
My # 5 | SEEH 1:21.9 13-14 | 34.4(105.7 | 2 | 476 |BEERER (®E)
: 55.0 (7€) (+0) | EFEAR—LT 12T X (H)
R:F4 =427 Biys¥o0% J—HrTr—LA
o FEBZ 0. — . . e A (ER)
7T 4 — K H o7 il 1(/31;)) 9-8 34.7[105.6 | 16 42;2 emnd,
LHIINIoF— B:TUTA XX J—ZAEIZXIZXT AL N
43 | BOAIEM 1:21.9 15-12 34.5|105.7 | 11 468 | EEB— (ER)
T TAFY 56.0 ) 46) | FTRIvIL=Y
R:wy)EdyR B:/4FXvQ—-Lib INREUS
N o A. 7yt= : — EKEBN (ER)
glila|d17=yva—L o6 (e 1(.12/22.)0 16-16 | 34.3|104.7 | 10 (4_3;8) *Wgz
R:GA4TxATv— B:T7>Th HET7—L
S = o4 | H Kow> 1:22.0 7-4 35.0 | 104.5 | 12 | 456 |=idts (K#)
9|8|16| ¥ TANVTIZT—h 57.0 ) o) | W) $5TLu K957 5747
RZAFAD—N K B 2y vtEUE EvJLyRT7—L4
S 4 6 | AHEEE 1:22.2 9-8 35.0 | 102.4| 9 502 | HOBARER (BRR)
10(7|14| 77~k 57.0 (1178 Lo |FEBE=
LAY E—y BIUEET Y — J—ZENZXTZT AL b
N N N ||| A HE 122, - . . BE—% (FXR)
" ql&Hs TR o4 e 1(722t;°, 17-17 | 34.5[101.5| 14 (i?i) ety
ANKRZXTNYGT B ANXY v T 1 F— BREH#E S/ 77— L4
> w5 o7 | AIEF 1:22.5 13-14 [ 35.1] 99.3 | 17 | 466 |=EE (ER)
12/ 5(10 X'f/Ei'?/iJ)b 57.0 (1 1/4) (+4) AARGFIE
XL THANAN B:T5T—Fvy b PNCLie]
S = _ # 5 | ERH 1:22.5 7-8 35.4| 98.8 | 15 | 480 |=mED (RR)
1359 | X 1¥av717F 57.0 ) (o) | HAETER
RixIAMO— B:FFIA-F4TF NEHIS
N 4 5 | ECEER 1:22.6 2-2 35.9| 96.8 | 13 | 518 |EFME— (i)
14/ 817 A —brFUF> 57.0 (1/2) (+16) K&
L:JF2724— B:hOEHLLT 1 — W S HiE
WAID t 7 | C. X —b 1:22.7 11-12 | 35.4| 97.0 | 4 446 | AARES (BR)
15 g| A/ v =7 * 57.0 (3/4) 2 | Sy
R:F4—=TA>N0 B:h—F)1N7— AL
= 4 6 | AKX 1:22.7 2-2 36.0| 95.8 | 6 500 | #HAEE (RR)
160 4| 7T ITLRA K- 57.0 (NF) (+a) | TIELER
R:Za—-A>95>FK v 4)rwv B R
_ .o He 122, - . . FEHBEA (FER)
17 SN FoFaTIIN 3 xa 1(/%3)7 1-1 36.1]95.8 | 7 (115132) i
RZREF1—FTIUNTF1 BEIFTIIL 79757714
@ 71 L
) 46.6-34.8
Na>24 4L | 12.5-11.1-11.2-11.8-11.3-11.7-11.8
® I —F—EBIERL
12—7—
23—7F—
30—+— 7(4,17)(1,6,13) (9,16) (3,14) (8,15) (5,10)12,2,11
41—+ — (x7,4,17) (1,6,13,16) (3,9,14)15(8,12) (5,10)2, 11
[ RN
B OB 13 820M 714K 13-15 1,860M e & 7-8 1,930 &R 1-13-15 6,830
1 B 13 280 1-13 680F B & 18=18 5,940/ K31 18=1=1 49,650
15 320H 1-15 830M B H 13-15 9,350
1 1409

ABICOVWTRDTEEERROODE. TR LIV,




